Which of the following issues are the three most important in determining how you will vote in this election?

_ - ﬂ
A B8 c D 3 F
Base: All Respondents (unwtd) 1000 141 103 73 382 231 70
Base: All Respondents (wtd) 1000 136 112 65 384 235 68
406 56 52 2 179 70 25
Affordability and cost of living 41% 1% a7% 37% a7% 30% 36%
* e * 3 0
270 30 38 18 123 40 2
The economy 27% 2% 34% 28% 32% 17% 32%
* e * 3 0
265 34 2 23 % 77 17
Health care 26% 25% 21% 35% 23% 33% 25%
247 26 2 8 117 66 B
Housing (e.., affordability, availability) 5% 9% % % 30% 28% 2%
+ 0 0 o C 0
239 37 31 16 7 60 21
Canada's relationship with the United States 2% 7% 8% 5% 0% 2% 1%
179 2 25 9 68 4 12
Taxes 18% 16% 2% 14% 18% 18% 17%
159 25 2 16 4 4 10
Interest rates/inflation 16% 19% 19% 25% 12% 18% 14%
* 0 o+ .
148 2 15 7 60 39 2
Immigration 15% 19% 13% 1% 16% 16% 3%
o 0 0 F 3 .
120 1 9 6 35 40 18
Relations with other countries/trade 12% 8% 8% 10% 9% 17% 26%
* * * D ABD*
99 7 14 5 42 30 1
Poverty and socialinequality 10% 5% 13% 7% 1% 13% 2%
80 14 9 6 39 10 2
Seniors'issues/aging population 8% 10% 8% 9% 10% % 3%
80 8 9 4 32 2 4
Climate change 8% 6% 8% 7% 8% 9% 6%
76 10 7 16 27 10 6
Crime and violence 8% 7% 6% 25% 7% % 8%
. . ABDE* .
76 13 5 13 15 22 7
Government deficits/debt 8% 10% 5% 20% % 9% 10%
o+ . BD* 0
71 2 3 2 40 17 7
Unemployment/jobs 7% 1% 3% 2% 1% 7% 1%
* . ¥ A A
63 10 11 2 17 20 3
Corruption and ethics in government 6% 7% 10% 2% % 9% 2%
59 3 5 2 2 21 1
Education 6% 2% % 4% 7% 9% 1%
54 12 7 4 11 14 6
Relations across provinces 5% 9% 6% 5% 3% 6% 9%
o~ . ¥ .
54 15 8 1 17 6 6
Energy, including pipelines, gas prices 5% 11% 7% 1% 5% 3% 9%
DE " ¥ .
34 5 5 2 1 8 2
Defence, the Armed Forces 3% 3% 5% 3% 3% 3% 3%
32 4 2 3 15 7 1
Infrastructure (e.g., public transit, bridges, roads) % % % % ym % %
32 3 2 1 8 9 6
Childcare 3% 4% 2% 1% 2% 4% 9%
¥ . ¥ D+
30 13 2 3 8 3 1
Drug abuse 3% 9% 2% 5% 2% 1% 1%
DE . ¥ .
28 3 2 2 13 6 2
Women's issues 3% 2% 1% 2% 3% 3% %
23 3 2 3 9 6 1
Indigenous issues involving First Nations and Native peoples I % % % % % I
18 3 4 - 5 1 1
Gun control 2% 4% 3% 1% 1% 1% 2%
17 2 . - 3 6 5
New technology 2% 1% - - 1% 2% 8%
¥ " ¥ D+
15 1 - - 8 1 5
Abortion 2% 1% - - 2% 1% 8%
¥ " ¥ ABE®
14 2 - - 4 7 1
Extremism/terrorism 1% 2% - - 1% 3% 1%
13 2 1 - 8 2 1
Racism/discrimination 1% 2% 1% - 2% 1% 1%
3000 408 336 195 1152 705 204
sigma 300% 300% 300% 300% 300% 300% 300%




Now, on these three Issues that are most Important to you, which party do you think is the best to deal with them? -

Unemployment/jobs
Region

T
C E F \

_
A B

D
Base: All Answering (unwtd) 73 3 5 3 38 19 5
Base: All Answering (wtd) 71 2 3 2 40 17 7
20 1 1 * 14 3 1
The Conservatives 28% 59% 39% 28% 34% 17% 9%
* %k %k * % %k * % * %k
15 - 1 1 10 3 -
The Liberals 21% - 30% 36% 24% 21% -
* %k * %k * %k * %k * %k k%
8 - - - 4 3 1
The NDP 12% - - - 11% 20% 9%
* %k * %k * %k * %k * %k * %k
5 - - - - 5 -
The People's Party of Canada 6% - - - - 27% -
* %k * %k * %k * %k * %k k%
3 1 - - 2 - -
The Green Party 4% 41% - - 6% - -
* %k * %k * %k * %k * %k * %k
21 - 1 1 10 3 6
None of them - they're all the same 29% - 30% 36% 26% 16% 82%
* %k * % Kk * % * %k k%
71 2 3 2 40 17 7
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Education

_ = =
A B C D E Foo
Base: All Answering (unwtd) 68 3 7 2 28 27 1
Base: All Answering (wtd) 59 3 5 2 26 21 1
23 * 2 - 13 7 1
The Liberals 38% 12% 43% - 48% 31% 100%
* %k %k * % %k * % * %k
11 2 1 2 3 3 -
The Conservatives 18% 52% 29% 84% 10% 14% -
* %k * %k * %k * %k * %k k%
7 - - - - 7 -
The Bloc Quebecois (BQ) 11% - - - - 31% -
* %k * %k * %k * %k * %k * %k
5 - 1 * 3 - -
The NDP 8% - 28% 16% 11% - -
* %k * %k * %k * %k * %k k%
2 - - - 2 - -
The Green Party 4% - - - 9% - -
* %k * %k * %k * %k * %k * %k
1 - - - - 1 -
Some other party 1% - - - - 3% -
* %k * % Kk * % * %k k%
12 1 - - 6 5 -
None of them - they're all the same 20% 36% - - 22% 22% -
* % * %k * %k * %k * %k * %k
59 3 5 2 26 21 1
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Taxes

_ = =
A B C D E Foo
Base: All Answering (unwtd) 174 26 17 12 65 40 14
Base: All Answering (wtd) 179 22 25 9 68 42 12
93 11 18 6 35 19 4
The Conservatives 52% 50% 72% 61% 52% 46% 36%
* %k %k * % * * % * %k
32 2 * 3 14 8 4
The Liberals 18% 11% 2% 34% 20% 20% 32%
* %k * %k * %k * * %k k%
8 2 3 * 2 - 1
The NDP 5% 7% 14% 5% 3% - 4%
* %k * %k * %k * * %k * %k
8 1 - - 1 5 1
The People's Party of Canada 4% 3% - - 2% 12% 7%
* %k * %k * %k * * %k k%
3 - - - - 3 -
The Bloc Quebecois (BQ) 1% - - - - 6% -
* %k * %k * %k * * %k * %k
1 - - - 1 - -
The Green Party * - - - 1% - -
* %k * % Kk * * %k k%
34 7 3 - 15 7 2
None of them - they're all the same 19% 30% 13% - 22% 16% 21%
* % * %k * %k * * %k * %k
179 22 25 9 68 42 12
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most Important to you, which party do you think Is the best to deal with them? - Crime and

violence
_ = =
A B C D E Foo
Base: All Answering (unwtd) 67 12 5 8 30 11 1
Base: All Answering (wtd) 76 10 7 16 27 10 6
50 8 1 14 17 4 6
The Conservatives 66% 76% 18% 88% 63% 44% 100%
* %k %k * % %k * % * %k
5 1 - - 2 2 -
The Liberals 7% 13% - - 7% 19% -
* %k * %k * %k * %k * %k k%
3 - - - - 3 -
The Bloc Quebecois (BQ) 4% - - - - 28% -
* %k * %k * %k * %k * %k * %k
3 - - 2 - 1 -
The NDP 4% - - 12% - 9% -
* %k * %k * %k * %k * %k k%
15 1 6 - 8 - -
None of them - they're all the same 20% 11% 82% - 30% - -
* %k * %k * %k * %k * %k * %k
76 10 7 16 27 10 6
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three Issues that are most Important to you, which party do you think is the best to deal with them? - Climate

change
Region

T
C E F \

_
A B

D
Base: All Answering (unwtd) 86 11 9 5 38 16 7
Base: All Answering (wtd) 80 8 9 4 32 22 4
33 4 2 1 18 8 -
The Green Party 41% 44% 26% 28% 56% 36% -
* %k %k * % * * % * %k
21 2 4 * 7 4 4
The Liberals 26% 23% 40% 9% 21% 20% 92%
* %k * %k * %k * * %k k%
12 3 2 2 4 - *
The NDP 15% 34% 26% 51% 13% - 8%
* %k * %k * %k * * %k * %k
7 - - - - 7 -
The Bloc Quebecois (BQ) 9% - - - - 33% -
* %k * %k * %k * * %k k%
2 - 1 - 1 * -
The Conservatives 3% - 8% - 3% 2% -
* %k * %k * %k * * %k * %k
1 - - 1 - - -
Some other party 1% - - 13% - - -
* %k * % Kk * * %k k%
4 - - - 2 2 -
None of them - they're all the same 5% - - - 7% 10% -
* % * %k * %k * * %k * %k
80 8 9 4 32 22 4
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think Is the best to deal with them? -
Extremism/terrorism

_

Region

=
A B C

=
E F

D |
Base: All Answering (unwtd) 13 - - 5 1
Base: All Answering (wtd) 14 2 - - 4 7 1
8 2 - - 2 4 -
The Liberals 54% 100% - - 36% 55% -
*% * % *% * %
4 - - - 3 * 1
The Conservatives 28% - - - 64% 6% 100%
* % * %k * %k k%
2 - - - - 2 -
The People's Party of Canada 15% - - - - 31% R
* %k * %k * %k * %k
1 - - - - 1 -
None of them - they're all the same 4% - - - - 8% -
* % * %k * %k k%
14 2 - - 4 7 1
Sigma 100% 100% - - 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Immigration

_ = =
A B C D E Foo
Base: All Answering (unwtd) 140 24 14 5 54 40 3
Base: All Answering (wtd) 148 26 15 7 60 39 2
75 19 9 7 33 7 1
The Conservatives 51% 74% 58% 93% 56% 18% 30%
* %k %k * % * * % * %k
24 2 1 * 12 9 -
The Liberals 16% 6% 10% 7% 20% 23% -
* %k * %k * %k * * %k k%
9 - - - 1 7 1
The People's Party of Canada 6% - - - 1% 19% 70%
* %k * %k * %k * * %k * %k
8 2 1 - 2 2 -
The NDP 5% 9% 10% - 3% 6% -
* %k * %k * %k * * %k k%
6 - - - - 6 -
The Bloc Quebecois (BQ) 4% - - - - 15% -
* %k * %k * %k * * %k * %k
1 1 - - - - -
The Green Party 1% 3% - - - - -
* %k * % Kk * * %k k%
2 1 * - - - -
Some other party 1% 6% 3% - - - -
* % * %k * %k * * %k * %k
23 1 3 - 12 8 -
None of them - they're all the same 16% 3% 19% - 20% 20% -
* %k * %k Kk * * %k k%
148 26 15 7 60 39 2
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think Is the best to deal with them? - Corruption
and ethics in government
Region

T
C E F \

_
A B

D
Base: All Answering (unwtd) 62 8 10 3 19 18 4
Base: All Answering (wtd) 63 10 11 2 17 20 3
30 5 7 * 8 7 2
The Conservatives 48% 51% 65% 28% 48% 36% 72%
* %k %k * % %k * % * %k
9 * - - - 8 1
The People's Party of Canada 15% 5% - - - 39% 28%
* %k * %k * %k * %k * %k k%
5 1 2 - 2 - -
The Liberals 8% 6% 19% - 13% - -
* %k * %k * %k * %k * %k * %k
4 2 - 1 - 1 -
The Green Party 6% 23% - 36% - 4% -
* %k * %k * %k * %k * %k k%
2 - - - - 2 -
The Bloc Quebecois (BQ) 4% - - - - 11% -
* %k * %k * %k * %k * %k * %k
2 2 - - 1 - -
The NDP 3% 16% - - 3% - -
* %k * % Kk * % * %k k%
1 - - - - 1 -
Some other party 1% - - - - 3% _
* % * %k * %k * %k * %k * %k
10 - 2 1 6 2 -
None of them - they're all the same 16% - 16% 36% 36% 7% -
* %k * %k Kk * % * %k k%
63 10 11 2 17 20 3
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three Issues that are most Iimportant to you, which party do you think Is the best to deal with them? - Poverty and

social inequality
Region

T
C E F \

_
A B

D

Base: All Answering (unwtd) 88 5 12 8 36 25 2
Base: All Answering (wtd) 99 7 14 5 42 30 1

28 3 2 2 14 7 -

The Liberals 28% 35% 17% 41% 34% 22% -
* %k %k * % %k * % * %k

23 - 2 1 17 2 1

The NDP 23% - 14% 18% 41% 6% 100%

* %k * %k * %k * %k * %k k%

11 - 6 1 3 1 -

The Conservatives 11% - 45% 15% 7% 5% -
* %k * %k * %k * %k * %k * %k

10 - - 1 5 4 -

The Green Party 10% - - 26% 12% 13% -
* %k * %k * %k * %k * %k k%

6 - - - - 6 -

The Bloc Quebecois (BQ) 6% - - - - 21% -
* %k * %k * %k * %k * %k * %k

1 - - - - 1 -

The People's Party of Canada 1% - - - - 2% -
* %k * % Kk * % * %k k%

20 5 4 - 3 10 -

None of them - they're all the same 21% 65% 25% - 7% 32% -
* % * %k * %k * %k * %k * %k

99 7 14 5 42 30 1

Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Health care

_ = =
A B C D E Foo
Base: All Answering (unwtd) 278 40 27 28 91 69 23
Base: All Answering (wtd) 265 34 24 23 90 77 17
92 16 7 8 34 20 8
The Liberals 35% 46% 28% 36% 37% 26% 46%
* %k * % * * * %k
54 5 10 5 22 10 3
The Conservatives 20% 14% 41% 21% 25% 13% 16%
* * %k * %k * * k%
49 9 4 6 15 9 5
The NDP 18% 26% 18% 28% 17% 12% 28%
* k% * %k * * * %k
12 - - - - 12 -
The Bloc Quebecois (BQ) 5% - - - - 16% -
* * %k * %k * AD* k%
7 - - - - 7 -
The People's Party of Canada 3% - - - - 9% -
* k% * %k * D* * %k
5 1 - 1 4 - -
The Green Party 2% 3% - 3% 4% - -
* * % Kk * * k%
1 1 - - 1 - -
Some other party 1% 3% - - 1% - -
* * %k * %k * * * %k
a4 3 3 3 15 19 2
None of them - they're all the same 17% 8% 12% 12% 16% 25% 10%
* * %k Kk * * k%
265 34 24 23 90 77 17
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most Important to you, which party do you think is the best to deal with them? - I he

economy
Region

T
C E F \

_
A B

D
Base: All Answering (unwtd) 296 42 38 23 120 51 22
Base: All Answering (wtd) 270 30 38 18 123 40 22
123 11 17 8 53 25 9
The Liberals 45% 38% 45% 45% 43% 62% 43%
* %k * % * * * %k
103 15 16 7 51 8 6
The Conservatives 38% 51% 44% 37% 41% 19% 27%
E* * %k * %k E* * k%
10 - 3 1 3 3 1
The NDP 4% - 7% 5% 3% 7% 4%
* * %k * %k * * * %k
7 - - - 2 - 5
The Green Party 2% - - - 1% - 23%
* * %k * %k * * k%
1 - - - - 1 -
The People's Party of Canada * - - - - 2% -
* * %k * %k * * * %k
1 - - - - 1 -
The Bloc Quebecois (BQ) * - - - - 1% -
* * % Kk * * k%
1 - - - - -
Some other party * - - - * - -
* * %k * %k * * * %k
26 3 2 2 14 4 1
None of them - they're all the same 10% 11% 4% 13% 12% 9% 1%
* * %k Kk * * k%
270 30 38 18 123 40 22
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three Issues that are most Important to you, which party do you think is the best to deal with them? - Interest

rates/inflation

_
A B

Region

SK/MB
C

=
E F

D |
Base: All Answering (unwtd) 159 26 17 18 51 36 11
Base: All Answering (wtd) 159 25 22 16 44 42 10
68 10 11 10 21 14 1
The Conservatives 43% 40% 52% 61% 47% 34% 13%
* %k %k * % * * % * %k
36 4 2 3 11 11 5
The Liberals 23% 17% 10% 17% 26% 26% 49%
* %k * %k * %k * * %k k%
11 2 5 3 1 - 1
The NDP 7% 7% 21% 18% 2% - 11%
* %k * %k * %k * * %k * %k
3 - - - - 3 -
The Bloc Quebecois (BQ) 2% - - - - 6% -
* %k * %k * %k * * %k k%
1 - - - 1 1 -
The People's Party of Canada 1% - - - 2% 2% -
* %k * %k * %k * * %k * %k
3 2 - - - 1 -
Some other party 2% 10% - - - 1% -
* %k * % Kk * * %k k%
37 7 4 1 10 13 3
None of them - they're all the same 23% 27% 17% 4% 24% 31% 28%
* % * %k * %k * * %k * %k
159 25 22 16 a4 42 10
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three Issues that are most Iimportant to you, which party do you think Is the best to deal with them? - HousIing

(e.g., affordability, availability)
Region

T
C E F \

_
A B

D
Base: All Answering (unwtd) 229 23 19 9 106 63 9
Base: All Answering (wtd) 247 26 22 8 117 66 8
71 6 8 2 36 19 1
The Conservatives 29% 22% 35% 19% 31% 30% 11%
* %k %k * % * * % * %k
63 7 6 2 29 16 3
The Liberals 26% 26% 28% 24% 24% 25% 40%
* %k * %k * %k * * %k k%
33 6 4 2 12 8 2
The NDP 13% 22% 18% 23% 10% 13% 18%
* %k k% * %k * * %k * %k
10 1 - - 9 - -
The Green Party 4% 4% - - 8% - -
* %k * %k * %k * * %k k%
8 - - - - 8 -
The Bloc Quebecois (BQ) 3% - - - - 12% -
* %k k% * %k * * %k * %k
2 - - - 1 * -
The People's Party of Canada 1% - - - 1% 1% -
* %k * % Kk * * %k k%
2 - - 1 1 - -
Some other party 1% - - 17% * - -
* % * %k * %k * * %k * %k
58 7 4 1 30 13 3
None of them - they're all the same 24% 26% 19% 17% 26% 20% 31%
* %k * %k Kk * * %k k%
247 26 22 8 117 66 8
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think is the best to deal with them? -
Racism/discrimination

_ = =
A B C D E Foo
Base: All Answering (unwtd) 14 1 1 - 8 3 1
Base: All Answering (wtd) 13 2 1 - 8 2 1
3 - - - 2 1 1
The NDP 25% - - - 28% 30% 100%
* %k %k %k * % * %k
3 - 1 - 2 - -
The Green Party 20% - 100% - 26% - -
* %k * %k * %k * %k k%
2 2 - - - - -
The People's Party of Canada 18% 100% - - - - -
* %k * %k * %k * %k * %k
2 - - - 1 1 -
The Liberals 15% - - - 8% 70% -
* %k * %k * %k * %k k%
2 - - - 2 - -
The Conservatives 12% - - - 20% - -
* %k * %k * %k * %k * %k
1 - - - 1 - -
None of them - they're all the same 10% - - - 18% - -
* %k * % * % * %k k%
13 2 1 - 8 2 1
Sigma 100% 100% 100% - 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Indigenous
issues involving First Nations and Native peoples

Region
=
E Foo
Base: All Answering (unwtd) 18 2 2 2 9 2 1
Base: All Answering (wtd) 23 3 2 3 9 6 1
7 - 1 1 4 - 1
The NDP 29% - 26% 52% 44% - 100%
* %k %k * % %k * % * %k
5 - - - - 5 -
The Bloc Quebecois (BQ) 20% - - - - 77% -
* %k * %k * %k * %k * %k k%
3 1 - - 2 - -
The Liberals 14% 31% - - 26% - -
* %k * %k * %k * %k * %k * %k
3 2 - - - 1 -
The Conservatives 13% 69% - - - 23% -
* %k * %k * %k * %k * %k k%
1 - - - 1 - -
The People's Party of Canada 6% - - - 16% - -
* %k * %k * %k * %k * %k * %k
4 - 2 1 1 - -
None of them - they're all the same 18% - 74% 48% 13% - -
* %k * % Kk * % * %k k%
23 3 2 3 9 6 1
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Energy,
including pipelines, gas prices

Region
=
E Foo
Base: All Answering (unwtd) 58 11 10 2 18 8 9
Base: All Answering (wtd) 54 15 8 1 17 6 6
28 6 7 1 11 2 2
The Conservatives 51% 38% 84% 100% 62% 27% 27%
* %k k% * %k k% * %k k%
12 1 1 - 4 3 3
The Liberals 23% 9% 12% - 21% 48% 53%
* %k * %k * %k * %k * %k k%
3 2 - - 1 - -
The NDP 5% 10% - - 6% - -
* %k * %k * %k * %k * %k * %k
1 - - - 1 - -
The People's Party of Canada 1% - - - 3% - -
* %k * %k * %k * %k * %k k%
* - - - - - *
The Green Party 1% - - - - - 7%
* %k * %k * %k * %k * %k * %k
* - - - - * -
The Bloc Quebecois (BQ) 1% - - - - 6% _
* %k * % Kk * % * %k k%
10 6 * - 1 1 1
None of them - they're all the same 19% 43% 4% - 8% 19% 13%
* % * %k * %k * %k * %k * %k
54 15 8 1 17 6 6
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Drug abuse

_ = =
A B C D E Foo
Base: All Answering (unwtd) 26 10 3 2 9 1 1
Base: All Answering (wtd) 30 13 2 3 8 3 1
13 7 1 - 4 - 1
The Conservatives 44% 52% 64% - 53% - 100%
* %k %k * % %k * % * %k
7 2 - 2 - 3 -
The NDP 23% 14% - 77% - 100% -
* %k * % * %k * % * % k%
4 * 1 - 3 - -
The Liberals 13% 1% 36% - 33% - -
* %k * % * %k * 3k * %k %k
1 1 - - 1 - -
The People's Party of Canada 4% 4% - - 8% - -
* %k * % * %k * % * % k%
1 1 - - - - -
Some other party 5% 11% - - - - -
* %k * 3k * %k * 3k * %k * %k
3 2 - 1 1 - -
None of them - they're all the same 11% 16% - 23% 6% - -
* % * % * %k * % * %k k%
30 13 2 3 8 3 1
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three Issues that are most Important to you, which party do you think is the best to deal with them? -

Infrastructure (e.g., public transit, bridges, roads)
Region

T
C E F \

_
A B

D
Base: All Answering (unwtd) 29 6 1 2 11 7 2
Base: All Answering (wtd) 32 4 2 3 15 7 1
15 2 - - 9 2 1
The Liberals 45% 55% - - 61% 25% 100%

* %k %k * % %k * % * %k

7 1 - 3 3 - -

The Conservatives 21% 24% - 100% 19% - -
* %k * %k * %k * %k * %k k%

6 - - - 3 3 -

The NDP 19% - - - 20% 45% -
* %k * %k * %k * %k * %k * %k

1 - - - - 1 -

The People's Party of Canada 4% - - - - 20% -
* %k * %k * %k * %k * %k k%

1 - - - - 1 -

The Bloc Quebecois (BQ) 2% - - - - 11% -
* %k * %k * %k * %k * %k * %k

3 1 2 - - - -

None of them - they're all the same 9% 21% 100% - - - -
* %k * % Kk * % * %k k%

32 4 2 3 15 7 1

Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Government
deficits/debt

_ = =
A B C D E Foo
Base: All Answering (unwtd) 73 15 6 11 19 20 2
Base: All Answering (wtd) 76 13 5 13 15 22 7
41 9 3 12 7 5 6
The Conservatives 54% 65% 62% 91% 45% 22% 81%
* %k %k * % %k * % * %k
13 1 - 1 7 3 1
The Liberals 17% 9% - 4% 45% 13% 19%
* %k * %k * %k * %k * %k k%
10 - - - - 10 -
The Bloc Quebecois (BQ) 14% - - - - 47% -
* %k * %k * %k * %k * %k * %k
2 - 2 - 1 - -
The Green Party 3% - 30% - 6% - -
* %k * %k * %k * %k * %k k%
2 - - - - 2 -
The NDP 3% - - - - 11% -
* %k * %k * %k * %k * %k * %k
1 - - - - 1 -
The People's Party of Canada 2% - - - - 6% -
* %k * % Kk * % * %k k%
2 2 - - - - -
Some other party 3% 17% - - - - -
* % * %k * %k * %k * %k * %k
3 1 * 1 1 - -
None of them - they're all the same 4% 8% 9% 5% 5% - -
* %k * %k Kk * % * %k k%
76 13 5 13 15 22 7
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three Issues that are most Important to you, which party do you think Is the best to deal with them? - Relations

across provinces

_ = =
A B C D E Foo
Base: All Answering (unwtd) 39 10 2 3 13 9 2
Base: All Answering (wtd) 54 12 7 4 11 14 6
27 8 6 4 5 4 *
The Liberals 51% 63% 87% 100% 46% 31% 8%
* %k %k * % %k * % * %k
7 - - - - 7 -
The Bloc Quebecois (BQ) 13% - - - - 51% -
* %k * %k * %k * %k * %k k%
5 * 1 - 3 1 -
The Conservatives 10% 1% 13% - 25% 7% -
* %k * %k * %k * %k * %k * %k
3 - - - 3 - -
The People's Party of Canada 5% - - - 22% - -
* %k * %k * %k * %k * %k k%
1 - - - 1 - -
The Green Party 1% - - - 6% - -
* %k * %k * %k * %k * %k * %k
11 4 - - - 2 5
None of them - they're all the same 21% 33% - - - 12% 92%
* %k * % Kk * % * %k k%
54 12 7 4 11 14 6
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most Iimportant to you, which party do you think Is the best to deal with them? - Relations

with other countries/trade
Region

T
C E F \

_
A B

D
Base: All Answering (unwtd) 125 12 12 8 46 34 13
Base: All Answering (wtd) 120 11 9 6 35 40 18
65 6 8 3 24 14 10
The Liberals 54% 49% 91% 40% 68% 34% 58%
* %k k% * %k * * %k k%
24 5 - 3 4 5 7
The Conservatives 20% 46% - 42% 11% 13% 39%
* %k * %k * %k * * %k k%
13 - - - - 13 -
The Bloc Quebecois (BQ) 11% - - - - 32% -
* %k * %k * %k * * %k * %k
5 - - - 1 4 *
The NDP 4% - - - 2% 10% 3%
* %k * %k * %k * * %k k%
1 - 1 - - - -
The People's Party of Canada 1% - 9% - - - -
* %k * %k * %k * * %k * %k
1 - - - 1 - -
The Green Party * - - - 1% - -
* %k * % Kk * * %k k%
12 1 - 1 6 4 -
None of them - they're all the same 10% 5% - 18% 18% 10% -
* % * %k * %k * * %k * %k
120 11 9 6 35 40 18
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - New
technology

_

= =
A B C E F

Region

D
Base: All Answering (unwtd) 9 1 - 3 1
Base: All Answering (wtd) 17 2 * - 3 6 5
3 - - - - 3 -
The Bloc Quebecois (BQ) 19% - - - - 56% -
* %k %k %k * % * %k
2 2 - - - 1 -
The Conservatives 14% 100% - - - 12% -
* %k * %k * %k * %k k%
1 - - - 1 - -
The NDP 9% - - - 42% - -
* %k * %k * %k * %k * %k
1 - - - 1 - -
The People's Party of Canada 8% - - - 39% - -
* %k * %k * %k * %k k%
* - * - - - -
The Liberals 3% - 100% - - - -
* %k * %k * %k * %k * %k
8 - - - 1 2 5
None of them - they're all the same 48% - - - 19% 32% 100%
* %k * % * % * %k k%
17 2 * - 3 6 5
Sigma 100% 100% 100% - 100% 100% 100%




Now, on these three Issues that are most important to you, which party do you think is the best to deal with them? - Women's
issues

_ = =
A B C D E Foo
Base: All Answering (unwtd) 35 2 2 3 15 8 5
Base: All Answering (wtd) 28 3 2 2 13 6 2
9 - - - 4 5 1
The NDP 34% - - - 30% 77% 31%
* %k %k * % %k * % * %k
8 1 - 1 5 * 1
The Liberals 28% 26% - 58% 38% 8% 25%
* %k * %k * %k * %k * %k k%
4 2 - 1 - - 1
The Conservatives 13% 74% - 42% - - 26%
* %k * %k * %k * %k * %k * %k
3 - 1 - 3 - -
The Green Party 12% - 48% - 20% - -
* %k * %k * %k * %k * %k k%
1 - - - - 1 -
The Bloc Quebecois (BQ) 3% - - - - 16% -
* %k * %k * %k * %k * %k * %k
1 - - - 1 - -
The People's Party of Canada 3% - - - 7% - -
* %k * % Kk * % * %k k%
2 - 1 - 1 - *
None of them - they're all the same 7% - 52% - 5% - 17%
* % * %k * %k * %k * %k * %k
28 3 2 2 13 6 2
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think Is the best to deal with them? - Seniors’
issues/aging population
Region

T
C E F \

_
A B

D
Base: All Answering (unwtd) 78 15 8 8 30 14 3
Base: All Answering (wtd) 80 14 9 6 39 10 2
26 6 2 2 8 7 1
The Liberals 33% 41% 22% 40% 21% 65% 71%
* %k %k * % %k * % * %k
20 5 3 1 10 1 -
The Conservatives 25% 33% 33% 15% 27% 8% -
* %k * %k * %k * %k * %k k%
15 2 2 1 9 - 1
The NDP 18% 13% 24% 22% 23% - 29%
* %k * %k * %k * %k * %k * %k
3 - - - 2 1 -
The People's Party of Canada 3% - - - 5% 7% -
* %k * %k * %k * %k * %k k%
2 - - 1 2 - -
The Green Party 3% - - 10% 4% - -
* %k * %k * %k * %k * %k * %k
1 - - - - 1 -
The Bloc Quebecois (BQ) 2% - - - - 14% -
* %k * % Kk * % * %k k%
1 1 - - - - -
Some other party 1% 6% - - - - -
* % * %k * %k * %k * %k * %k
12 1 2 1 8 1 -
None of them - they're all the same 15% 6% 22% 14% 20% 6% -
* %k * %k Kk * % * %k k%
80 14 9 6 39 10 2
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three Issues that are most Important to you, which party do you think is the best to deal with them?¢ - Detence,

the Armed Forces
Region

T
C E F \

_
A B

D
Base: All Answering (unwtd) 41 5 6 2 15 9 4
Base: All Answering (wtd) 34 5 5 2 11 8 2
13 2 2 - 7 2 -
The Conservatives 38% 52% 30% - 60% 26% -
* %k k% * %k k% * %k k%
11 - 3 2 1 3 2
The Liberals 34% - 60% 100% 13% 33% 83%
* %k * %k * %k * %k * %k k%
2 2 - - - - -
The NDP 5% 39% - - - - -
* %k * %k * %k * %k * %k * %k
1 - - - 1 - -
The Green Party 2% - - - 7% - -
* %k * %k * %k * %k * %k k%
7 * 1 - 2 3 *
None of them - they're all the same 21% 9% 11% - 20% 41% 17%
* %k * %k * %k * %k * %k * %k
34 5 5 2 11 8 2
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Gun control

_ = =
A B C D E Foo
Base: All Answering (unwtd) 16 2 3 1 6 2 2
Base: All Answering (wtd) 18 6 4 * 5 1 1
11 6 1 * 2 - 1
The Conservatives 58% 100% 35% 100% 42% - 59%
* %k %k * % %k * % * %k
6 - 2 - 3 1 1
The Liberals 34% - 44% - 58% 62% 41%
* %k * % * %k * % * % k%
1 - 1 - - - -
The NDP 4% - 21% - - - -
* %k * % * %k * 3k * %k %k
1 - - - - 1 -
The People's Party of Canada 3% - - - - 38% -
* %k * % * %k * % * % k%
18 6 4 * 5 1 1
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Abortion

_ = =
A B C D E Foo
Base: All Answering (unwtd) 14 2 - - 6 3 3
Base: All Answering (wtd) 15 1 - - 8 1 5
6 - - - 3 - 3
The NDP 37% - - - 34% - 60%
*% sk *% sk
5 1 - - 1 1 2
The Liberals 33% 100% - - 19% 37% 40%
* % * %k * %k k%
2 - - - 2 - -
The Conservatives 16% - - - 32% - -
* %k * %k * %k * %k
1 - - - - 1 -
The Bloc Quebecois (BQ) 6% - - - - 63% -
* % * %k * %k k%
1 - - - 1 - -
None of them - they're all the same 7% - - - 15% - -
* %k * %k * %k * %k
15 1 - - 8 1 5
Sigma 100% 100% - - 100% 100% 100%




Now, on these three issues that are most Important to you, which party do you think Is the best to deal with them? - Attordability

and cost of living
Region

_ = =
A B C E F

D
Base: All Answering (unwtd) 392 57 46 25 164 71 29
Base: All Answering (wtd) 406 56 52 24 179 70 25
127 18 22 12 57 12 6
The Conservatives 31% 32% 43% 51% 32% 17% 25%
* %k * % * * * %k
108 15 10 7 52 13 10
The Liberals 27% 28% 19% 31% 29% 19% 42%
* * %k * %k * * k%
38 8 5 1 15 5 4
The NDP 9% 15% 9% 6% 8% 7% 16%
* k% * %k * * * %k
13 2 - 1 10 - -
The Green Party 3% 4% - 3% 6% - -
* * %k * %k * * k%
10 - - - - 10 -
The Bloc Quebecois (BQ) 2% - - - - 14% -
7 - - - 3 5 -
The People's Party of Canada 2% - - - 1% 7% -
* * % Kk * * k%
- - 1 - - -
Some other party * - - 5% - - -
* * %k * %k * * * %k
101 12 16 1 43 25 4
None of them - they're all the same 25% 22% 30% 5% 24% 36% 17%
* * %k Kk * * k%
406 56 52 24 179 70 25
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Childcare

_ = =
A B C D E Foo
Base: All Answering (unwtd) 23 3 2 1 10 5 2
Base: All Answering (wtd) 32 6 2 1 8 9 6
8 2 - - - 6 -
The People's Party of Canada 26% 39% - - - 66% -
* %k %k * % %k * % * %k
5 - 2 - 2 * -
The Liberals 15% - 100% - 27% 5% -
* %k * %k * %k * %k * %k k%
5 2 - 1 1 * 1
The NDP 15% 30% - 100% 15% 5% 11%
* %k * %k * %k * %k * %k * %k
3 - - - 3 - -
The Conservatives 10% - - - 42% - -
* %k * %k * %k * %k * %k k%
1 - - - - 1 -
The Bloc Quebecois (BQ) 2% - - - - 7% -
* %k * %k * %k * %k * %k * %k
2 2 - - - - -
Some other party 6% 31% - - - - -
* %k * % Kk * % * %k k%
8 - - - 1 2 5
None of them - they're all the same 26% - - - 16% 17% 89%
* % * %k * %k * %k * %k * %k
32 6 2 1 8 9 6
Sigma 100% 100% 100% 100% 100% 100% 100%




Now, on these three Issues that are most Important to you, which party do you think Is the best to deal with them? - Canada’s

relationship with the United States
Region

T
C E F \

_
A B

D
Base: All Answering (unwtd) 277 45 24 25 82 74 27
Base: All Answering (wtd) 239 37 31 16 74 60 21
178 28 19 11 58 47 16
The Liberals 74% 76% 62% 68% 78% 77% 74%
* %k %k * % * * * %k
29 4 8 3 8 5 2
The Conservatives 12% 11% 26% 16% 10% 8% 10%
* %k * %k * %k * * k%
6 1 - 1 1 1 2
The NDP 3% 3% - 8% 2% 1% 10%
* %k k% * %k * * * %k
4 - - - 3 1 -
The People's Party of Canada 2% - - - 4% 1% -
* %k * %k * %k * * k%
2 1 - - 1 - -
The Green Party 1% 2% - - 1% - -
* %k k% * %k * * * %k
1 - - - - 1 -
The Bloc Quebecois (BQ) * - - - - 1% -
* %k * % Kk * * k%
- * - - - *
Some other party * - 2% - - - 2%
* % * %k * %k * * * %k
18 3 3 1 3 7 1
None of them - they're all the same 8% 9% 10% 8% 4% 11% 1%
* %k * %k Kk * * k%
239 37 31 16 74 60 21
Sigma 100% 100% 100% 100% 100% 100% 100%




